Peer IQSS®

Installation and Assembly:
Hardware Accessory for mounting Speaker Mounts

to Corner Mount.
Models: ACC930

Before you begin, make sure all parts shown are included with your product.
Parts may appear slightly different than illustrated.

Parts List

B

Description Qty. Part Number
A 10-32 x 1" pan head phillips screw 4 520-9514
B #10 flat washer 4 540-9400
C 10-32 nylock nut 4 530-1033

NOTE: Corner mount may be visible with smaller size screens.

NOTE: Speaker mount (sold separately) may appear different than illustrated.

Using hole pattern shown below, attach speaker mount to corner mount interface plate using two 10-32 x 1"
pan head phillips screws (A) through the front and two #10 flat washers (B) and two 10-32 nylock nuts (C)
through the rear.

@,
C/ ~

S

@

4

INTERFACE —
PLATE

1o0f1 ISSUED: 08-25-08 SHEET #: 120-9057-1
Visit the Peerless Web Site at www.peerlessmounts.com For customer care call 1-800-865-2112 or 708-865-8870.



